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NS ASIEX 08 25 2,448,289 2,390,864 57,425
= 862,343 875,264 A 12,921
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= 67,268 67,268 0
=2 1,733 1,733 0
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OSS2HSHNENAS-Y)
d& 2,141,000& 2,141 2,870 AT29
NSA2SXE2ds 24 55,000 45,000 10,000
< 11,000 9,000 2,000
Al 44,000 36,000 8,000
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=) 11,000 9,000 2,000
Al 44,000 36,000 8,000
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201 ¢er24] 2,520 2,800 A 280
01 At 22l 2,520 2,800 A 280
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301 et a = 2,025 2,250 A 225
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> MEH| 2,5002 x612 x180! 2,745 0 2,745
= 2,745 0 2,745
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SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
02 2324l 11,340 12,600 21,260
O1 S3AIE & HAl 11,340 12,600 A 1,260
DRELRS Z& 11,340,000 11,340 12,600 A 1,260
202 04l 6,048 6,720 ABT2
01 SLHOYI 6,048 6,720 ABT2
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